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1. The Conflrution of a Quadratrix to the Circle be-
ing the Cury defcribed by its Equable Evolution.

L. BY the Equable Evolurion of a Circle, I mean fuch a gra-

4 ) dual approach of its Periferie to Reftitude, as that all its
parts do together, and equally evolve or unhend : or fo that the
fame Line becomes fuccellively alefs and lefs Arc of a reci-
procally greater Circle.

2. Let A HK A (Fig. 6.) be the Periferie of a Circle. AE
a Tangent to the point A. Let this Circular Line be {uppos’d
cut or divided at A, and then to unbend (like a Spring) its
upper end remaining fixt to its Tangent A E, whilft the other
parts do Equally Ewolve or extend themf{elves thorough all the
degrees of lefs Curvature (as in ABD, AMC, &vw. ) till they
“become ftraight in coincidence with the Tangent AE.

3. Let AMC be the Evolving Curv in any middle pofition
between its firft and laft. Joyn the fixt end A, and the mo-
ving end G, by the Chord-line AC, interfe&ing the firft Cir-
cleat H. 1 fay that AMC is a Jike Segment to A n H, cut
‘off in the firft Circle by the Chord A H. For, by the fuppo-
fition of AMC is the Arc of a Circle, having AE a Tangent
-common both to it and A nH, and both Arcs are terminated
in the fame Right line AC:

4. Hence the Curv ADCE (defcrib’d by the moving end
of the Periferie in its Evolution) may be thus conftruéed.
Let the Circle AHKA be by bife&ions divided into any num-
ber of equal parts. Let H be one of the points of fuch divi-
fion. Then fay, as the number of equal parts in the Arc
AnA: istothe number of parts in the whole Periferic
AHKA :: foisthe Chord A H: to a fourth Line, which
let be ACin AH produc’d. Sois C apoinc in the Curve
ADCE.

- ¢. Dem. Upon A C defcribe A M C, an Arc ke to the
Arc AnH. Whence— AH: AC:: AnH: AMC.
Butby conftruction, AH: AC:: AnH :perif: AHK A,

therefore is the Arc AMC equal to the whole Periferie AHK!X
an
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and like tc the Arc A nH. Confequently AMC reprefents
the Evolving Periferie, in a pofition like to the Arc A n H,
and C is the defcribing point. ‘

6. After the fame manner may be found other points thro
which the Curv may be drawn. Bur here (as in the old Qua-
dratrix of Dinoftratas) the point E cannot be precifely deter-
mined but the Curv may be brought {o near it, that its flexure
or tendency will folead to the point E, that A E f{hall be

- near enough to the truth for common ufes. '

7. Suppofing the point E found, a Tangent to any point of
the Curv may be drawn : and fuppofing a Tangent drawnthe
point E may be determined; the property of the Tangent
being this, that fuppofing R T a Tangent to the point C and
C A, CE,drawn from C to each end of the redify’d Circle,
the Angle ACT (the lefler angie that AC makes with thetan-
gent) isequal to the tangent made by the 2Lines drawn fromC,

. < be a point in the Quadratrix indifinitely near to C;
and draw A cinterfecting AHKA in h, and AMCin o.To
A c asa chord, draw the Arc Amc ijke unto the Aic An a-
To the point ¢ of the Arc A M C draw the Tangent CL.
=AE, and joyn L A : So is oC an indefinitely litcle parti-
cle of the Arc coincident wirh its Tangent. :

. Beciufe of the like Segments AnhA, AMoA, AmcA, as
chord Ac: tochord lo:: Sois Arc Amc (=AMC): to Arc

"AMo. Or Ac: Ao:: Amc(=AMC): AMo. And dividing
Ac v Ao (= co):Ao :: AMc—AMo (=Co): AMo. That
is, co: Ao:: Co: AMo. and alternately, co: Co:: Ao:
AMo. Put AC for Ao, and AMC for AMo (as differing in-
finitely little) and then’tis co: Co:: AE: AMC. But by
conftru®ion CL=AE =AMC whence co:Co:: AC: {L
and the Angle LCA=Coc. (ocbeing infinitely near to AC,
is therefore parallel to it.) and therefore Coc, ACL are lite
Triangles. ‘ : E

10. Becaufe of CL =AE, Ang. EAC = LCA. (CLand
EA being Tangents to the two ends of the fame circular
Arch AMC, make equal Angles with its chord AC.) and AC
common to both, the Triangles EAC, ACL are Jike and equa/ :
therefore are all three Coc, ACL, EAC like Trizngles,
Whence it follows, that the Angle ACE (in the Triangle
EAC) is equal to the Angle ocC (in the Triangle coC.)
But ocC = ACT becaufe oc and AC are parallel ; there.
forc Ang. ACE=ACT. QED.



